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QUESTION 1

A Mobile Service Provider would like to design and deploy an Ethernet service which has similar physical link
failover/failback characteristics on the active/backup links as the APS/MSP SONET properties. Which Layer 2 service
addresses should be considered to address this design feature? 

A. Port-Channel 

B. MLPPP 

C. Flex Link 

D. Ethernet Pseudowire 

Correct Answer: C 

 

QUESTION 2

A retail company connects its 250 branches across the globe to the core using MPLS Layer 3 VPN. The company is
planning to migrate its traditional telephony services to VoIp, in order to reduce the cost of international calls. What are
the two primary concerns when implementing this migration? (Choose two) 

A. Jitter 

B. Call routing design 

C. SRST 

D. MTU 

E. Available bandwidth 

Correct Answer: AE 

 

QUESTION 3

For a redesign requirement of the service provider network, summarization was implemented at multiple locations for
each summary range. Now some customers of the service provider are complaining of higher latency and performance
issues for a server hosted in the summarized area. Which design issues must be considered when creating the
summarization? 

A. Summarization adds CPU overhead on the routers sourcing the summarized advertisement. 

B. Summarization prevents the visibility of the metric to the component subnets. 

C. Summarization causes packet loss when RPF is enabled. 

D. Summarization creates routing loops. 

Correct Answer: B 
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QUESTION 4

Which option lists the cloud service models? 

A. Internet as a Service, Platform as a Service, and Storage as a Service. 

B. Infrastructure as a Service, Platform as a Service, and Storage as a Service. 

C. Infrastructure as a Service, Platform as a Service, and Software as a Service. 

D. Internet as a Service, Product as a Service, and Storage as a Service. 

E. Internet as a Service, Platform as a Service, and Software as a Service. 

Correct Answer: C 

 

QUESTION 5

Which main IoT migration aspect should be reviewed for a manufacturing plant? 

A. Sensors 

B. Security 

C. Applications 

D. Wi-Fi Infrastructure 

E. Ethernet Switches 

Correct Answer: A 
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